Table 650. Processor VR Design Values

Parameter Vcc Vet
B+8 125W Performance
IEFLE [A] 184 22
lccMax current 280 30
10 ms max
iecMax_App current BS5% of IccMax NA
di 208 21
(lccMax transient)
[A]
; ' df ' IecMax_App di = lccMax_App = (IccMax - MNA
(IccMax_App transient) IccMax di)
dt (ns) 200 250
ew'Bme for the di step cte
(Slevwr for the di ) (N 3]
8+8 125W Baseline
IPLZ [A] 153 22
IccMax current 240 30
10 ms max
lccMax_App current 85% of IccMax NA
di 185 21
(IccMax transient)
[(A] |
di IecMax_App di = IccMax_App - (IccMax - MNA
(lccMax_App transient) lecMax di)
dt (ns) 200 250
ew time for the di step) (Note
(Sl for the d ) ( A3
848 65W Performance
IPL2 [A] 160 22
IccMax current 240 30
10 ms max
IccMax_App current 85% of IccMax MNA
di 185 21
(IccMax transient)
[A]
di IccMax_App di = Ic:cl‘-‘lax__ﬂpp - (lccMax - MNA
(lecMax_App transient) IccMax di)
dt (ns) 200 250
(Slew time for the di step) (Note 3)
848 65W Baseline
IPL2 [A] 116 22
IccMax current 172 30
10 ms max
85% of IccMax MNA

IccMax_App current
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Parameter Vec Vccar
di 134 21
(IccMax transient)
[A]
o di IccMax_App di = IccMax_App - (IccMax - NA
(lccMai_App transient) lccMax di)
) dt (ns) 200 250
(Slew time for the di step) (Note 3)
_ 8+8 35W Performance
IPLZ [A] 101 20
TccMax current 154 30
1N ms Thax
leeMax_App current 85% of IccMax MNA
di 119 21
(IccMax transient)
[A]
di IecMax_App di = IccMax_App - (IccMax - NA
(IccMax_App transient) IccMax di)
dt (ns) 200 250
ew time ror the di step ote Ak
(Slew ti for the di ) (N 3,
8+8 35W Baseline
IPL2 [A] 78 20
IccMax current 120 30
10 ms max
lccMax_App current 85% of IccMax NA
di B4 21
(IccMax transient)
[A]
di IccMax_App di = IceMax_App - (Icchax - NA
(IccMax_App transient) lecMax di)
dt (ns) 200 250
(Slew time for the di step) (Note 3)
6+0 65W Performance
IPLZ [A] 123 30
IccMax current 175 30
10 ms max
lecMax_App current 85% of IecMax RIA
di i41 21
(IccMax transient)
[A]
di IccMax_App di = [ccMax_App - (IccMax - MNA
(IccMax_App transient) IccMax di)
dt (ns) 200 250

(Slew time for the di step) (Note 3)
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Vccer

Parameter Vcc

6+0 65W Baseline

IPLZ [A] 17 22
IccMax current 113 30
10 ms max

IccMax_App current B5% of lccMax MNA
di 78 21

(lccMax transient)

[A]
di ax_App di = IccMax_App - (IccMax - NA
IccMax di)

(IccMax_App transient)

dt (ns) 200 250

(Slew time for the di step) (Note 3)

IPL2 [A] 65 - 20
IccMax current mﬂ e 30
10 ms max A ' 4 '
IccMax_App current W _E!E-E-&-:-ﬂéﬁ'?[ﬁ;ﬁlaxf:; NA,
4 = |
(IccMax transient)
[A]
di lecMax_App di = IccMax_APp - (lecMax
(lecMax_App transient) IccMax di
dt (ns)
(Slew time for the di step) (Note 3)

6+0 35W Baseline

IPL2Z [A] 65
lccMax current 100
10 ms max _
IccMax_App current 85% of lccMax | M
di 75 & 21
(lccMax transient) '
[A]
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